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DUN =& career » HfEET & E B A © primary school teacher, artists, nurse °

BAPRAE 1+ S RS R B EE VR R R - BEA—(EREE A Y J57A2K save our planet °

7t Mystery, science fiction, biography =& HH {1 &7 N = E RS ?

B [FEEAERE library 2fH Cafe

Give reasons why organizing time is challenging for university students and why it is important.
Describe an actor or musician that you love very much, and why you enjoy his performance?

Friend is nervous for difficult math course, your advice?

Talk about a person you enjoy talking with.

Your friend is considering keeping a pet. What kind of pet you will suggest and what advice you will give to
him?

ree R ERE YA (R ?

B N e R B cooking classes.

TSN > EEER A XK TR E respect ANEBESRET A » FyffVEE ?

What do you think we should do to decrease the usage of car or other vehicle and solve the traffic
problems?

What personal quality do you admire most? Creativity, courage or intelligence? Explain why? Please
include details and examples in your response.

Somebody say students should be forbidden using computer in the class. Do you agree. What advantage and
disadvantage of such regulation.

Talk About an Important Strength in the Schools in Your Country

assignments K25 o {R/EJEARHE handle them

AAA#ZZ T » 30K give advice about how to make friends in a new city

[FEAREE 18 BRI NI A G A] DI 52

Ik prefer carefully pick presents for friends » #2245 gift cards?

ZE—E AR TEER family —i#E » Why ?

EEEE LN E R AL private cars BEA AT HY T HUL

ARG S I ER AR AR » PR 2R AR = A -

Do you prefer to plan every detail of the vacation or leave every detail flexible open to change? why?
Make a large purchase, borrow money or wait until have saves enough which is better

Do you agree or disagree with the statement: Student should learn in a quiet environment.

Do you agree or disagree: it is more enjoyable to read fiction than non-fiction literature.

AEREL Y A (ERGFVRCER L - BRI ARE DL » &8 — RISV E FE B CHIBE
FE -

IREAREE - friendly 1 kind (YT S EE2 A EIS BT
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MEZEBENENEEEEETHRIVE > BAE?

Do you think the government should spend funding to save the animals which on the age of extinction or
only for private source?

Some people prefer to listen to music while they are studying or working. Others prefer to stay in a quiet
place while they are studying or working. Which way do you prefer and why? Include reasons and details in
your response.

Some people live in different places throughout their lives, while others stay and live in one place, which do
you prefer?

Is Mobile Phones Necessary for Businessmen

prefer outdoor workout OR indoor workout, specific details

Some think robots are useful in the future, some think robots will never be more useful and smarter than

human, which do you agree

HEESE =

BaIaE BT RS A R an Rk A e e
§877  —{EZc# 11 listening part ZL5RFUER(EIAS (SR - 45 LRSI A ERIBRY R RIAT
WReE - EEEFEAKTEES]  EREHFEEEN  FRENmETEE -

]

Reled - A ANGER NI ES (S » #97% Humanity Dept fif /7 (B RS - HAE street parking 2/REHLFE -
FRak(EE {1 parking lot « ZR{%5R 55 A {[F wooded area /N5 » AT LARR T #5{72 parking lot

77 —B—uE s - LRV - B A 0 humanity dept [ 7R 2 A REREIEE - (LA
dining A1 library # ] DUE HL o 7= 26 block JZ (18T N EEAY » Bt URA A 1S (B0 B A s « IR
MEZE > WAZEENLAE wooded area - R BB R EMERN R T » MEZIRE - B2ERETEEN
HIRE  EEEE -

Bl ¢ B H A 33— housing office for off-campus °
W)y LAEEE  BERE 0 JER (1) & on-campus (Y dorm E24% overcrowded |
(2) B EAAEAMIRE - 12 office IEFE BT -

Relel © BT H next fall #EH4E K —Hr/E free tutoring ©

PET]  LEBARF -
(1) FraErUESEF L2 ENEMER - Bl EREGEHERE FURLZ YRR 5
(2) ATLAFEER—ERAY - AAHECHIBEEE T SRR - siRiEEERIA - Br DURBE
RAE RSB HTF ARG -

Bl @ AT EHEE theater (proposal of adding seats in the Anderson Theater ) » BEp (—) &R % »
fR25 show EEAMEEEERNTEN  (Z) B LB AN
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F807 © 2R - Bl (—) KERSY show HVELT > )8 RIS RAELImHY » ZBIFRHITRZ 2R -
DLGFEE seats 5 () #EEEHAK (12/F big investment, construction cost a lot ) » B 2L A %
(B[RS o

G ¢ SECEISRES 3 o Ao R R R A GREE - ADUTRN ¢ (1) 3SR T ¢ 2) %
F RIS RN -

B BEES AR - B (1) KESEAE G EISHEMDSE - Q) A4 g S RE -
LA SERIF (AR RE BTN -

ReleE - AEEEAEEERIE outside of the main dining hall Etb £ REOILEREINEZ  [HEZE (1)
reduce the overcrowding ; (2) /& enjoy the nice weather °

Py - —(EEAIEE > 72 (1) overcrowding is not a long-term problem » [K £ campus AT HY A 4M—1E
dining hall {F. renovating ﬁﬁM?ﬁ crowded - SE 4 B BAZE LALELF TEEA S crowded T > I H AT
DL EA 517, > cafe fREE AT DL 5 (2) 4885 ATFYNES EEK (boys play soccer next the dining hall
especially in the nice weather ) » 534 HAERIYER * T (RAFEH FIZEK » 8K & —{ soccer ball &5 EI{RAY
VORI -

Fejad © The university demand that the fourth grade student of literature department to write required senior
paper. For two reasons, first to improve their research skill, second is to encourage them communicate with
the faculties.

§&°F7 : The boy agrees with it.

First is that they can improve their research skills since what they have written before were just short essays.
HEENERENLARE » B-R&REG - (IEEEEEER -

Second is that the faculties are great and experienced, it will help a lot to communicate with them and will

help the students to know their paper’s weakness more clearly. B2 &4 5H{E 224 assign —{[& advisor » &

BhER AR SERGER L » SRAE nT DA RIS > S8 bbb 2 miEAT H 4R 52 5w U5 %4 5) comment 4R %

Relal B E B A AYE H R B EHRE(E community BT - AWELEE © (1) local community can
attend ; (2) actors need audiences ©

FEJ7 0 B2E agree » Ry (1) FAEIZAERZH entertainment - [FAEERFEHM—/NFHEE
ZE o FRLLEA community ZRE7ZS T —([ entertainment option {RAEE 5 (2) H4b » ¥7K actor K57
st RARAFHYHE) - BRIER AR » XA ARATHES, - HEESRLEN ] -

M R - — T EHER S R  — TR B - 40 EITA -
W) © SRR R RN R - — T EA TR B TR LR
A > AR SC R R © [FI0S - A A AABEARE T © BT
HEH > SRR - B TR IR B EIORIEA » TR 90 37T— » K8 -
shiask -
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elRE © —fEl boy FE{SRRREERM a0 WHEHCHE:E  MERM T IREHE -
§807 ¢ HEEhHIARE > (1) ARHEE CTRERAY - ARIEESLES - (2) RIS
i o BN ERRITACEE - Bl AERRR T IR EEE -

Belel @ REEHF 2EEEAL community service trip @ $2AE3 18 T EFIETE4S volunteer EMTHT I E T
HEE NS HHIEL A -

277 s BAERIEEETE - SRE—HERZS2AEL interested - (HRFIEEESE - M HEER
#C o BB ERETENIRFMLLE R - BB4AE training DUZEF [ESHERT get work done ©

The announcement is about start to next semester, students is going to pay the same amount of money when
they go to concert, that means more discount providing. The women disagree with this idea. First reason she
gives is that it would not helpful for the financial problems since most people who go to the concert pay the
regular price. For example, last time she went to the concert, only a few student there. The second reason is
that most student especially who is majoring in art cannot afford the price of concert. It will be difficult for

them since they need to listen to it in their major.

BEE8 © university fair club o

P77 BAERE - FHRA (1) A[LIEZ5EH club information » ‘N & #78 [ {721/ club - FL{EHY club
K disorganized ; A (2) BAELLEEEFEI(E R directly from club member - 2 {2 [FE {LAYEES - 78
&Rt AT AR S I0IE —(E club 2 JHRY -

RilRE © B B (H PROPOSAL 57 & HYFE G E AR ARBZARE - 55— {E4r a2 o LR BIAR
EBINE B iR o] DGR R R R R H B P H CRRAVEREH -

1877 © BB R1SIE(E PROPOSAL R4y - 2% 7722 5 B Bl 5380 S R (E L -

F— o MAEERPEIEAE - ARG IE B (FERPERE AT LIS R A Pa T 5K - IR -
B WREREITRE T o BRHEARISEEIEE A GRS BSR4 TR o Ao n] DAEE Y
PRERAEREERK -

FE ¢ (S - A EEERIUSEES N EEMIVER - WEER : (1) A 7ERREEAIR
T WBRESEN  (2) EREEGITEINITESIEL -

g5y BAREEMER - RN (1) RREE TEGEHHA &AEN - JTHE political #Y » 224
el & A strong opinion » ZR{&5EE share and exchange opinion ; (2) HEERH FRE=EAIFIRA ST
BRI FENT » ERa]DIEFEHEIFY E put a sign to remind students to close the door °

R ARG EORERENEZEEENEF o MEHEE (1) AR IEKRE - 2) 24H
[t P HHE ] AT 5€ - fifE sign-up sheet @ (EREEAREE - AFERUEHERHE LB F > RIS -
P87 BAERCH B (1) ZEVKFEHILAERITIT » (2) B4 plan —EHERIEE - IZBRAVESF R TREEE -
et 24 schedule o
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Bez © Student Computer Technician in Dormitories(Topic). These technician must live in the dormitory, to
provide 24 hours service to everybody. As the repayment, the expense decreases on 50%.

77 : Woman-Great Idea. 1 Reason to support-Ex: One day she had a problem with her computer, it’s froze.
She didn’t know how to fix it in order to finish her assignment. And the next day the same thing happened
to her friend. So, It’s great idea. 2 Reason to support — Because of 50% discount for living in dorms, and

living there so expensive she thinking to take this position.

Bzl @ fi#FE | experimental archaeology HYEFAIHIE

§ii77 ¢ professor {F lecture =R T —(E EEEHY (5 FI :2F&E experimental archaeology HY{H T~ » 7% HEE
KR T Tt —{E EB%%@@E&E mainland JEMTE] ocean » FL{E A T EEHMERHCEEFHY wood,
rope 35 | fily > #2IRIZEEE I ocean 0 5HH mainland FHYSEEE A DIBEIE] NG FAY -

BelzE /14 T demand shifting 7 strategy - Two strategies of demand shift reduce the peak-peak demanding;
increase the poor-peak demanding.

1877+ BRI AHY— (B RS IZBRAT AR AR T — R & 8E - E(EE e b 7-9 Bh 2 [ - AR -
ROEE - AREBEREEEMUE - HIRS AN EE MR M GIZER - 1Y » BaAVITARR

create a new deal » ¥fjj% 7 BEZ FUIZERAVERE 7L REF2(E desert » 2 A SRR ARAVEEE f T 15
Flp &t - PR T ML E IR RIZER - Sha tett AR bk ss -

FelsE  business class 5% lateral view (fHITEIER:) » Bl ie—{EFHVEIR KGR E -

= B T —EfT . —ESEE RN N B RIS S BRI AR - AMREHIS A
TERAER  ERBARERARE > MM E TAAMIRER - SR oI AEERATEHEER - B
FABSEIT -

38 : Familiarity Principle - F(BEEN - N0 EAPCREIVEH - BIEAMRATEE VR
i o (HIE 2 G EEREPVEATERDE -

) Bosi B —(EE R - T —BEERE - B PEEE - ERIEIYEOL T - AIRBRIVEEER L RA
K H FLAY geometrical shape °

FPEEE AR ENREER R - HERE KGR RE - *EF —[EEZ B HAHY geometrical shape »
TR E AR AATEAR - AP S — R A - fth T8 B R — B R R Y R BRI
BIEEM IR GEE DLATE & A B E S AR -

A5 5% internal competition )° companies have some successful products {58 M35 {HE ("€ introduce
new products > A& consumers N HEN - HiE(EAFIHYT - FrlA internal competition 2 [E{E A
H|NES new products $8 T established products HY profits » fif BEARER w2/ BN B E Y & & 2 [
Wi o HIEEINARY - RS ERTE S - RRSETE mnA BERIRIHY A B8 -
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T B E O BIERTRE —(H automobile /A FIHIHNES - {1{F1/A ] Fi {8 top sell 5 small cars »
EEFEBEBE%E - HARIATRTERI M » PRMATE TEREthEE T — 5 more
stylish FYEE - AR HLA SHTEES R E SRR HT AT - [ EOVERT > BB T come up with B/
=] B A EI -

the reading focuses on the process of plant reactions, which might have 2 steps, one is releasing chemicals
from the plant that is being damaged, the other is chemicals go thru air and initiate surrounding plants to
release their own chemicals to keep away from damages. Later, according to the proffer, the process is well
exemplified by a plant called SAGE? In the exp, a plant was cut manually for the purpose of imitating insect
bite, and chemicals released were detected under proper equipments used by scientists. As a consequence,
other plants next to the hurt one would keep their leaves in good condition. And scientist later found that is
because other plants secreted their own different chemicals to protect themselves, by the induction of
chemical signal from the original plant. Researchers cut the leaves of sagebrush (a kind of bush growing up
in desert) plants to mimic the damage caused by insects. The sagebrush plants responded to release a kind of
chemical as an warning signal. In response, the other plants nearby get the signal and release their own

chemical that makes their leaves less tasty to plant-eating insects.

Beag : distraction display o fH¥N 58 RAVEH) use deception way to protect their nest and %+ °
P57 ST WA (1) 3T EEHIET o StEERAE nest 12 LIRGE - BEEAZ] nest > A GE
hunter 243 nest > fra&/NS 1 (2) BEEHEZ 5[5 fox > A& > fREEC -

ficlz8 © The passage introduces a principle, bidirectional, which means that the communication between
children and parents are two-way.

§&°F7  In the lecture, the professor explains this with-an example of a six-month old boy. When he smiles to
his parents, his parents will smile back. When he babbles, his parents will talk to him more. This interaction
has great influence in his future. For example, the child will be encouraged to seek more physical contact,

and communication.

I35 : phoresy » FHLELEfY)] can't move further » A AE H CHEEEEIIKEFIL resource » AFHEIIHYED
PIEHE > i5(H phoresy 15172 Z 1 temporary relationship > JSHE R (A A ELARE)HY AL (EEHY)
EAFIHY (B no harm to that other animal

{77 © professor in the lecture give example of mites and hummingbird, mites are small and can't fly, then to
find more energy from flower, when the hummingbird come around, they will come to the hummingbird,

since they are small, there is no harm to hummingbird o

]38 : Creeping Normalcy /&3t » FHHVS A WIE - —fE— NS - ZE20MERY » — i3
FEIY creeping normaley » £ A FRIE F2 2 S A 3¢ e Ay -

P57 BURBRHT - BCYEIERSEIT L - GRS HETEEIHE - TIEEFEHMRRER - HRRE

SHEEHITIERE - Bz > 2 {/J\E SERAER © AR 2R EBIERAMGE(L - BB E BB
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£ o RIS (T - SRR ST E 10-12 (B0 - R EIA AT E R
B2 T o [BREAIRBIHARLIUR 10-12 (BN - SRR e -

Bl EF BT E nutrition > FLEERENIEE H & A LEREEY) ARE(ERRIVEY) -
Py ¢ Bk E AR ARG KRB > 1 HE SR AR EWAEN EREA S - tha14s
xx WEIFETY, sugar » 45 baby BEIETY protein ZYEY) -

RileH : Passive-aggressive behavior o fi5—{E A\ ZBER B OAVEBRE I T ZIFR AR > FIEE L
BaEHA -

187 BB H ORI 3 — At A= H ALY sister R (& — 204 5 AU BEZC » B IG5 55 understand
her » B[R ORI AN R © TR A — R sister LY4FIZER » HUSE TIRZA X - SEwE

Passive-aggressive behavior °

Relsd ¢ Interest Boosting » i & HUERHIIHEZE T AP IS 4 A BRI B E AR -

P57 BB T — (A BB —FRHEE R AR - BAMECREER TS o "okt
BARE—(EREEREFRANER > 88 T —Loihiy SFEARIECEE - 1R 2 58 R R [F 22 gt fa aa
fEER AEE > S FEIRESHED T .

Belel © sEEYEME AR N B gRE G IRE » SRZEA E 5y food ~ water - Z ] L) avoid predator ©
F557 82 7{# warbler (T - S M AE A SEIE R 5B & 717 » /KN > 7 branches 5
ESN /&

BeJs : B circadian thythm #7144 - 5 {386 - (R AZR &7 5 69 ALERT TIME I TIRED

TIME - 45 (B3B3 i RYTHEM B 05 HERs v & e -

%ﬁ BUTHE T 2 (EFIT - BRI A e L2 ) B RN R R T R
s BRELLRIAEO - 5 b @RI AR > AT R s LA -
gﬂﬁ¥ﬂmﬁT$@kTﬁT%&%ﬁ B SRS - i S B - B B

BT - FEBRES > fER o i LT R T -

BeaE ¢ information cascade (ERAMEN) « BREUESR - AMEFR AL ANVEEARLELSCAVEE » B
BN ETEEEER ) - HIfEE(#E option %Dﬂtﬁﬁﬁ%[lhﬁ’ﬂa%\ contradict
I897 « %4 TEL B CHIBIT - LITE — AL - BRI B S R B E ki e L
W > —EEF AR —ERARE - fEt EHBANRNRHEE S - BRME T ZREHE
RAEEBEEIZTEN - AMEME T HRVEREE - H% A - MREEEEEREIZH - H2HM
BE—fGHY > RAAM IR SR T 42 A - fhEt A b —E -

( The professor gives an example when he went to a new city, choose place to have dinner between an
Italian restaurant and a French, guidebook suggest Italian, but he find Italian is empty while French is
crowded, so he choose French, but food was mediocre, after he go to the French, even more people choose

French and Italian is still empty. )

FPE R ILTREAT SR/ E A http://www.wordgod.com.tw/blog/?p=2038

http://xiaozuguohe.taobao.com/ + + + + +J2



JFEZET 150110 FIETBHMETER-OE (158R )

17.

18.

I3 QCC 2B T A4HARRL group FR &4 AERCE

5870 - BB e — A EREZ AT » ZET—HEA © RACHE—E 7 T AR —E/NH
BT —(E& - & LT ASRERAEDCRET - RRCa St FBrvS g > TRk - 4]
(R SE - YRR R TR -

Belsd  contrast effect in Psychology class. Definition : people contrast for it’s own psychological and value
with what they already familiar.

77 © Professor has cited own example, when he was young he was looking for an apartment, looked at
rotten house which was small from the beginning, gand crap, cannot bear very much. Also he saw the bigger
and seems nicer, fresher, more modern. He was discouraged, because price was fine and he signed the lease,
which meant he have to live there for a year. But latter all of the sadden happened to him, place was a lot
smaller than he thought before and there were no place for his furniture. He said — More patient - could find
better apartment Decided. Because For and front house comparison. But so on he moved, the discovery is
too small, his furniture anything cannot put down, and Now looks like does not have nice that. He should a

more patient point look.

OsEE A

LA E K EEET » f A\ -—#EfHAY apartment Bt HgE S A EH O —E A& » IEREE -

B4 R 2L A He{E part time job + ZZAEERELASATE book store FEHK T > AN HEE] LAY I T/F hours - {H2 €&
WLash B2 o 554 )RRt A lE# 2 K —EE & ¥E rental » 20455 apartment 1R/ » DARTHBE 2 & F1
4 IESF schedule $5F » Ff DA #EHS

—{E 2457 > 4 volunteer Y tutoring elementary school student HY program » AE{E—{[& park f&—{& 7K
(9 picnic - {HZFHERHYR A E L » & rain all day -2t T AN R TT75  —(E/Z call FTAHRY parents -
reschedule £ T - (HEFTREA LA NBEAMESNN 5 5B BV /EEZAE—(# local BEE - (HEEE

% fun > H-RE picnic °

—(EZAENEEE T > BT > EEAHRERAREE S -
P — (B[R rent BB > HEMEGRKE T » ME - S5—({ZEEZEN roommate T » RiH
=9 arrange the schedule o [E{RHEEE I E 2 2

RS TIESGR > Hh— %8R required i A 15K Montreal BRI ASREE ~ HRE - HEAR
EESH - TR EEN > AT —2 0% EIRGHAVEIRER R

(1) B—R27E R Montreal HRIHVHR S - 126 paper £%E - HAMRIEE

(2) AL [EERRE R a5 °] LAE S8 passport office FHER B0 E ] AR - 55 A5 Al AT
BEBE(TE 150 E4 > KRET -

R ¢ USRS - WG IRV -
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FA FREECCRHIERE - EFTERA A HEAVER - BRERKEIIRAEABS - K 7 > B3R
IR E R o WAERM T E — o HEERINER o HEAE IR AGSM - NG TFER
FALRHTTZE " - IZE2 withdraw SEESCEE - NEIFE - aJRE /VEL - (B ESINE S AR
7o

Two students are talking about a problem troubling the female student. The female student missed the last
class, but the current one will be a quiz in what they learned in the last lesson. So she can't survive. the man
offers several suggestions, one is borrowing notes from the man and study, but the woman says she already

scheduled a chemistry co-work with others. the other suggestion is to ask proffer for exemption.

—(E B AR AREHIE ISR TER MR —AF SR paper - B T ME A - — 255 —(E
FIEAME—— A LR E - EEHRMEHEEEHSZ]HER - B AEHCER —4A555h
& - LR - HEHCAZREEREAS - RIGERSHZH] paper 14 - -

The male student was going organize a poetry event. In the past, only six people signed up for it. However,
this time, there are 20 people sign for it. The time is limited and does not allow all the students read the
poems in one hour. The female students gave him two suggestions:

The first is that he only allows the first ten people who signed up for the event to read the poems, and tell
the rest people they still have opportunities in the future. But they might be disappointed.

The second suggestion is-that they change the place from the coffee shop to a lecture hall. Then they will

have longer time. But in the evening, it is hard to find one lecture, and there is no eating and drinking stuff.

A B R B - (BRI R G TR O R B A T SERITR T - M R LR
WS ST -

(1) SRR, B 6 Srerbpss P ST RS 5 868 5 (2) HeftFe—be
B AR AR ER AT - AR - R A SRS - (AR E
H745% tutor that guy » HLERAHR -

B4R #E - tomorrow ° 554 as a volunteer 75/ N\AH A&7 2= science museum HXFERE » M B N E{EER
JEKHERY speech ; HIZAth A E T FA X take a shift in library » EHITEEHS -

Solution (1) EFH7/INAAZ museum » NFEEOIKE S @ HEEHE/ NALFFERF] speech T 5
(2) AEESE  H/NAIK—K 5 HEAVELE sad » {HZMAELS I can do that » /7 o] DIFFH(E A A
FHEItEE -

BHEE T - ERERVEEERGRE - MEBR A (1) e EEE - et TET - E2AE

P - ATDIMRTREZST T - (2) 5X55387F bus stop B DUMASIH » [EIE P RIZIRE > BURE &
] ©
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19.

R LHER H T take TRAZECIRY professor Y writing class » 752 AIEH ZIEF crowded - 4 52
Fy writing class [ 5 R E PRERTSOR » AT LR FE 2 G IEZEE S5 — (B30 5 4= /D BEHY writing
class » 2A1% SEREE 4 AT LA B2 RIS (B2 BRI professor FEFARIERAYER - NEEHARYERE/E—ARF -
FrPAngE g/ DEEEEAE - REREA -

— AR R SRR R Ry ERAY AR/ DRt cancel T
W TTE © S R—ERIHER - (BRI EEER - B - 55 > Al DURAEERAY 2 B i
VA HEMZATEGE K MERRIIRSRIGERFERS T » HEEE -

ARSI MEREEE T 2 3R (HE—H=KAE 2 HER - IR - J2ARREIZER - ZFRAF
INEF o B B HEE R R R 0 VRN 0 A ERE] T _LERAYERSE o (because she has two classes
and those two classes are too close. She does not have enough time to take break and having lunch. ) The
woman needs to change her schedule about her class °

WA T 28 - R EE—Bl - AR PLE O R » {E 24 need organize - #ZE LT EAEL - (HI
JE H ARG o S R o i nf LU b ERAY section - (H2ZRHG F FAYEEFL too tired

BEZANK > LA EER DT —(ET R - MR GEISAS A R (E R

(1) F mail T > HAEVE TEIR fragile » Zii% - AN AE Q4G BEE AT X S IFAHT store > {HIE
EEA (EERE LR BT A AT - (2) H CRREGET  TREVE R BT 28 (E/NRFHYHEAR -
(B AR AR oS A 2 A BT e

IR (AR B A 2

FATRENINEE B CHY family - EETEEIE T - AP E50 (physics exam) FTEIFE—K7T » &
45 T A solution * (1) FE2 flight EYRFECEIEE K » KRBT ZHE 100 dollar ; (2) 2 7 #IEKIE
HISIIE S - BRG] LN B3 BE KA HAMARP TS — R E=FTEs A4 (don't sure if

he will be ready for the three exams ) °

BAEWMBIRAINEET » [HEKEEEMITENRE T » 20245 7 MR E 7
(1) Find a roommate. {HZ& 7 noise of TV > phone call » }47 Privacy °
(2) Find a part-time job as a waiter. {H/2 T/ERFfEZER - MAEAZKIREI AT -

LR SRR SN RIS - AT HA TR - MEARRTTE -
(1) fEhotel » {HZH 20 7y FEEE
(2) Mgt > BEEACAT - (B2 Ded

Student (man) need helping history professor with new book in winter brake. As he a member of basketball
team, he need exercise regularly, but the campus gym will be closed for hall 3 week break. He think of
using Local gym in town : + Over there pretty good equipment; - 75$ is expensive. Also, he think Running

outside : + no money, fresh; - no weights, he have to stay worm.
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OB NE

1. % marketing HY celebration (€55 * & MfEIEZEL o
(1) overshadowing * {H15 M EF IR A EE products information, example : DL {E{EHEZEHY comedian
HEDY pizza > (HE K HgeCFB(E funny comedian > [l & pizza °
(2)controversial behavior > example : DAFj#E{[E computer 55 famous movie star & > Z51&H5{#E movie
star £ 37—l magazine $¥E5AYIHE > 57 EE 4 not use so often °

2. EEEEM)R T IREF group unity EVERITEFRIR | —REE RURAVRIA - HAT RN S B - KRR
IREEIL - EEWIRIEIEIE — BRI —EEY) - LEFNVEER R TIER - EFEEERIIEE
EHE T 0 BARNGIIEE - FEERFRI - REMEEEENITR Z B0V - 158 TIEERS
#¢H friendly noises » H: 2 G AHEEH - DFRZE -

3. G irrigation CEEZRM) HUBREL @ —E/KERER] - LB RS  EfieiE T disease HYER > AT
IS NGagat - A KB N % BT 2+ HERBRIEYT
[ERE © HREEGRED -

4. RAAFEETERZREM T Or s B AR R0
(1) Secret —fd fatty substance TRl FH# 2 1E 5 F > 2R water tight HIRRERR 17K o3 ok
(2) %#51#Y internal organ > FIANFEH AR Bladder - 11 FRZRHT 12518 K7 & 7] AEFE R &Ky » WAEE
B N —Z RS R K R a5 fe R aEZ 2 -

5. WEFf# (bony fish) HYRIHAE/K LM predators HY mechanism °
(—) BERAIZKOR - —fE/Nfa zebra SEIS(EGREERRN - zebra & 1 small hair 2% sense ZKHYIRZEN - A
REEARIESEN - TF bend > FLAEEEEE] movement  FiyLL predators 2K 1 » EAMHEAIFIE T Bk
AEAK -
(=) 1E/KEEE (keep stﬂl) WHE/KE ~ ATATRTH - By A B ENNE gill 485 FH - trout FYAE
IERFR > A EhHF 5L AT LL2A 3 push water through £ [?D)jéiﬁ stay still to wait till the predators are gone °

6.  The topic is relationship between pricing and demand of products. The pricing will affect sales of products
in 2 different ways, negatively or positively. Later the proffer talks about some real situations. In the first
example about soft drinks, when price goes down, the demand will go up because people want to save
money and purchase the ones which lowered price rather than other costly drinks. in the other example, the
proffer mentioned hi-tech products, like computers, when prices goes down people think the quality is

inferior, so the demand will go down as well that is the negative correlation.

7.  drawback planning - [y plan FY 77 ARG
PasEmIpl2 (1) BOEFS TIREN—ERS - BRI GES - k) H2H
CSEA T FTLMRHEE - (2) HCEEFESE5ER—{E paper - AL EH—K 2 {#/NFRESERL - 2
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10.

11.

12.

13.

14.

PG T 2 R BHERRSERNTEE > frllafi THC

How do insects use pheromones to communicate?

There are two ways and the professor makes two examples. The first is that the insects use pheromones to
locate. Take the bees for example, some bees go far away from their hive to find food. The bees stay at hive
release the pheromone into the air to let the bees working outside to find the way to go home. Another
function of the pheromone is some insects use them to tell other insects they want to mate. Take the moth
for example, the female moths by releasing the pheromones into the air tells males they want to mate. So the

male moths find them to mate by following the pheromone.

changes of ancient civilization, ancient civilization FY—{[ 5 ¥t economy > FFi{fE changes » —{fE/E
money, make purchase easier, a man baked bread can buy coat with money, not trade with bread, [X| £ #P (&
EH KR A RE R B EA L 5 55 {52 » acquire items from long distance,&i roman LIRi;47 fabric
BHREE 7R 1%  BAtEA tradef{fIEF] 1 silk -

P E /K NP7 « — A —(ERRAVERE © 1S (@ EEE E— I a5 -
Sy Ui M 23R, © water scorpion S FF 0 SRS IEE AR ZE R o B TK NI o S—TEEAIA
SRR EZE RITEDKT - beetle EE BT - TEATRMRALAYAGS » BN KZAT > UBEE 72
SR HEKEAMR > Z25R B TSRO > DUREZRIR o

it F1 %5 painting B2~ (1) 5% painter AJDUREHR 5 55 > HAEE - eg painter # 5 EBIRHEAIEE T -
FAEME AT T DA% - DA BRI (L - (2) painter AYEVSEL T ZICEHMIHS - thing
FANENZIEFEEG - oJEREHT

FPGHITIRA R TR E IR — BRI » BT MBI TR ZIE IRVHEIT 18 /KT B S48 - B 4R TR
TKEVTGE = — (BRI > TR Ft—"m—EE R A - 5 (E0 AR YRR K - MRS
B2 FEHIAE R P [ — B RF R 7R FF harvest ©

g f e BIEE/K A - SUESRIR SRR > (Ef1T « 55— K bug SRERBRAHEL - sEAE/KE
HERZIK > RS ERES S - F (S AEE TIRRER - sEEBEiEuE At % - 188
T K ERLREE K ERE T -

IPEER > —(EZLZd% > 53w two types of errors ( making mistakes because you are getting used to it) =%
ANHJECIETT -

storage error » S5 : BHELLATEENR T - MIEEFE R A A - UAEEARS T EEE -

replace error » S2{ : FeAMTEIIYE » AR T K > BTNk - BN ERREE T 0 MRS o (HE
SeEnh o REEEMAETIIYE T o &R FAMTMRAILBHNIYERAY T # -
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15.

16.

17.

18.

#a# 1 RISK OF PRICE DISCOUNTING © 55— » GEEARE (R IEHE ERHIREM - 28 7 —(F
EEAFNGT - MFIE 12 AAHEIEE RIS - & PArARIREamE T - 8 7 &%4E - e S
FAE—EHARF A B FIRRE a9 12 AFTRHEE -

58—l RISK B RFK G g Rt T Irisinin B s bbiss - 8 7IREAEMIBT o By TRSHHTR0SE » 17
17 - AREE SRR N BN AT A M- - B4 -

sEAE R ETYE R PGSR B YIHYR 2 EEE avoid sick

—ERE —RERIRENE > BBITE rats - 35 rats FEAPGERHEVINRHE LIz — RS - H—
I ERHEEF return IZ—REES > giEtk MR YR PAZ Rk

FAEE > RIZ T —REEERE T EEAYES o AT DA — e RIAY AR - BRI TAESE rats © &5 rats WIERIZE]
HEHERVERLEZ clay H1 soil 2 absorb #2 - 157 clay AILUERRNFIAE BN T T4EE - NMRIEER
PEth rats Sfa > PHIEZ#ERA B RIRFUE A MR -

trees are not only nature beauty in cities.
(1) prevent the pollution of CO2 released by cars.
(2) absorb rain drops.

Fust current rivers — difficult to stay in one way direction.

Example 1- fatfish — have fin, live big and muscular. They can’ hold- difficult to get enough food

Example 2 — Throat — most time was slow.

FPE R ILTREAT SR/ E A http://www.wordgod.com.tw/blog/?p=2038

http://xiaozuguohe.taobao.com/ + + + + +J2





